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gus - 31 / SECTION - A
aEJf@ss 9Ra / Objective Type Questions

9T HEAT 1 § 80 oeh dEioISe W g1 $id & fohegl 40 UR&AT &1 3e) oAl
gl I 9 & |y IR fdeheq fGU av § ST & U el §1 U GaRT
el AT HE fdhed @ OMR fie W R Y|

Question Nos. 1 to 80 are of objective type. Answer any 40 questions.
Each question has four options out of which only one is correct. You
have to mark your selected option on the OMR sheet.

1. A=fof@a & O i9 a7 &1 3AdeoiT @ § ?
(A) TF

a

(D) ST Ty

Which of the following is a non-renewable source of energy?
(A) Sun

(B) Wind

(C) Petroleum

(D) Flowing water
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2. SARHA YA HI Fal I dFddS Fld g
(A) AR Forad

(D) $1H | FIs Tl

The actual source of energy of fossil fuel is
(A) nuclear fusion

(B) sun

(C) moon

(D) none of these

3. S 'TET I FSHAT 3o hld & 3o el dl &

(D) $TH & g LT

Those which 'produce heat on combustion' are called
(A) engine

(B) fuel

(C) heater

(D) none of these
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4. gU-Il &1 HIY §
(A) A FEyoT §
(B) FeT wgyor &
(C) STeT 9guoT &
(D) $1H | FIs Tl

Euro-ll is related to
(A) air pollution
(B) soil pollution
(C) water pollution

(D) none of these

5. 9dd YTl H Jul-fI&IYUT 3c9e dl &
(A) Fra &1 Beelr

(B) THIS gUoT

(C) el guur

(D) Rrea

Dispersion of white light is produced by
(A) glass slab

(B) plane mirror

(C) spherical mirror

(D) prism
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6. €k FaT A MY faggd #H Sgoleiaren IfFd & Fgd &
(A) sfager der

(B) olFelray Hel

(C) IR aar

(D) 31H & FIg Lt

The device which directly converts solar energy into electricity known as
(A) Daniel cell

(B) Leclanche cell

(C) Solar cell

(D) none of these

7. TAFTiehd H H hlel Yool &R g ?
(A) NaOH

(B) Cu(OH),

(C) NH,OH

(D) Mg(OH),

Which one of the following is a strong base?
(A) NaOH

(B) Cu(OH);

(C) NH,OH

(D) Mg(OH),
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8. sk T FT TAATAS T FIT § ?
(A) CO

(B) CO2

(C) H,O

(D) H20;

What is the chemical formula of dry ice?
(A) CO

(B) CO

(C) H,O

(D) H0;

9. IFd &1 T T [Aeifrd H & g Ui & 39i¥Afa & $RUT giar g ?

Which one of the following proteins is responsible for the red colour of
blood ?

(A) Heparin

(B) Haemoglobin
(C) Thrombin
(D) Fibrinogen
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10. FARIer guier &7 T 8T gl

The colour of chlorophyll pigment is
(A) black

(B) yellow

(C) blue

(D) green

11. Gid &l HoRdH AT &

The hardest part of the teeth is
(A) dentine

(B) enamel

(C) pulp cavity

(D) canine
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12. YRRTFAIT giAfT & TRIVT H fohgert giar 3maedesh g ?

Which of the following is necessary in the synthesis of thyroxin
hormone?

(A) Chlorine
(B) lodine
(C) Manganese

(D) Iron

13. 3199cesh T 3SIgd0T ¢

Which is an example of a decomposer?
(A) Cow

(B) Fungus

(C) Tiger

(D) Grass
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14, 92l WX 3601 &1 H&T &id §

Which is the main source of energy on earth?
(A) Coal

(B) Wood

(C) Water

(D) Sun

15. fA=faf@a & @ Sia gaTawor &1 {Rear & 2 .

(C) TUHS
(D) 37 & Tef

Which of the following is/are a part of environment?
(A) Atmosphere
(B) Hydrosphere
(C) Lithosphere

(D) All of these
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16. T @ TRFEURE o7 # fr o &R A 2

How many trophic levels are there in a forest ecosystem?

(A) 1

17. AR, ST 3MT=t &7 3e=-erT gidr 8, Fgarar &
(A) faEards

(B) Sfafawamde

(C) HAST=T

(D) 3raeiqor

The reaction in which ions are exchanged is called
(A) displacement

(B) double displacement

(C) combination

(D) precipitation
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18. P & & FeT TeaoT dafd w8 & 2
(A) 2H, + O, - 2H,0

(B) 2KCIO; - 2KCI + 30,

(C) H, + Cl, > 2HCI

(D) Pb (NO3), » PbO + NO, + O,

Which of the following equations is not balanced?
(A) 2H, + O, » 2H,0

(B) 2KCIO; —» 2KCI + 30,

(C) H, + Cl, - 2HCI

(D) Pb (NO3), » PbO + NO; + O,

19. foraY 9 3eTdT fdede &1 pH AT 81T &
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20. eI & @ g Fah HidT g ?
(A) Welerdele

(B) gear

(C) AR 3RS

(D) 3579 & FIg Tl

Which of the following is a natural indicator?
(A) Phenolphthalein

(B) Turmeric

(C) Methyl orange

(D) None of these

21. nfer @st &1 qEafae g 241§ ?
(A) Na,CO3.7H,0

(B) Na,CO3.5H,0

(C) Na,C0Os3.10H,0

(D) Na,COs3.H,0

What is the chemical formula of washing soda?
(A) Na,CO;.7H,0

(B) Na,CO3.5H,0

(C) Na,C0O;.10H,0

(D) Na,CO3.H,0O
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22. AFAlhd H ¥ i AT difaes § ?

(D) TemEex 3% aRA

Which of the following is a heterogeneous compound?
(A) Chalk

(B) Limestone

(C) Marble

(D) Plaster of Paris

23. I FOR Jihfaeh qerd &

The hardest natural substance is
(A) iron

(B) gold

(C) silver

(D) diamond
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24. AFAITRd H 8 HII-AT AT Tl TAcAd 99 &l Alell HT Fohdl g ?
(A) H

(B) OH

(C) O*

(D) 31 & g =T

Which of the following ions can turn red litmus paper blue ?
(A) H

(B) OH

(C) O*

(D) None of these

25. el Uehlel dTell AT g

Fruit-ripening hormone is
(A) ethylene

(B) auxin

(C) gibberellin

(D) cytokinin
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26. M &
(A) T Fdoidr
(B) Tk GSirdr
(C) Tsh Tadmr
(D) T QAarer

Mushroom is
(A) a saprophyte
(B) a parasite
(C) an autotroph

(D) an algae

https://www.bsebstudy.com




28. s H qvoT Hr Hia-Adr ey § 2
(A) FaaTeY
(B) THAST
(C) FdShT

(&

(D) $1H | FI5 Tt

Which mode of nutrition is found in fungi ?
(A) Autotrophic

(B) Holozoic

(C) Saprophytic

(D) None of these

29. qIRTEAfAs a3 # FaAT F1 Ya1g gar &
(A) Ui

(B) fafeear

(C) wgfeeiy

(D) =k

The flow of energy in an ecosystem is
(A) unidirectional

(B) bidirectional

(C) multidirectional

(D) cyclic
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30. AT 6T H fohdal Isds Iy ST g ?

How many chambers are found in human heart?

(A) 1

According to evolutional view, we are more similar to
(A) Chimpanzee

(B) Spider

(C) Orangutan

(D) Bacteria
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32. g ¥ @l defel H TeaAiichd H & hloA-HT 3ATHAT gl & ?

(D) 9ehTeT HLAYOT

Which one of the following reactions occurs in the formation of curd from
milk?

(A) Dissociation
(B) Fermentation
(C) Excretion

(D) Photosynthesis

33. Trafafld & ¥ fF o &1 39a o Fad § ?
(A) 31adel o

(B) 3del oiF

(C) 37el o TG 3Tadel o

(D) STShishel ol F

Which of the following lenses is called diverging lens?
(A) Concave lens

(B) Convex lens

(C) Convex lens and concave lens

(D) Bifocal lens
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34. T Y1l H forg aul &1 ey 31f¥edd giar g ?

Which colour has maximum wavelength in visible light?
(A) Yellow

(B) Violet

(C) Red

(D) Green

35. UTaRIYT &l AT ¢l & TolT GiaAee’ &l SIsT ST difg v
(A) TR H

(B) AR el H
(C) (A) 3R (B) &t
(D) ST & @Ig =IET

To increase the value of the resistance, resistors should be connected in
(A) series

(B) parallel

(C) both (A) and (B)

(D) none of these
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36. fFT 3UOT F 9 (+) 3R FOT () F A AL gar & ?
(A) dlecHIY H

(B) wHeT &

(C) faega &« #

(D) Fselr #

Which instrument does not have a positive (+) and a negative (-) sign?
(A) In voltmeter

(B) In ammeter

(C) In electric cell

(D) In caoil

37. weh AR 0T Gof wAAS g9ur W 3afdd giel 81 wrafda for go
e

(C) AT

(D) $TH & g LT

A converging beam is incident on a plane mirror. The reflected beam will
be

(A) diverging
(B) converging
(C) parallel

(D) none of these
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38. ga-dc%‘lu ol T S.|. ATIh g

(A) @t
(B) Sfet
(C) aX
(D) #get

39. Ueh UHAIEY & T (0) AT 2A 3{ehl & ot 20 Tasmer g1 WoAtex ar
3Teud#dis (least count) FT g ?

(A) 0.01 A
(B) 0.1 A
(C) 0.001 A
(D) 2

There are 20 divisions between the zero (0) and 2A number of an
ammeter. What is the least count of the ammeter?
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40. Ife Hg oY FACR &1, df 3ol AT TTRIEr gram
(A) Ik 9iaiey § s

(B) Icdeh Uiay & A

(C) 9cdsh fayr & e}

(D) §1H | FI5 Tt

If several resistances are parallel, their equivalent resistance will be
(A) more than each resistance

(B) less than each resistance

(C) equal to each resistance

(D) none of these

41. Fafai@d # & Fa8 U & g R B € 2
(A) FgfesheT &

(B) M8 ITAST A

(C) ard T &

(D) 31H & FIg LT

The pores of the stomata are surrounded by which of the following?
(A) Cuticle

(B) Guard cells

(C) Lenticels

(D) None of these
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42. DIA-TY G W@HT fohdm H HFA gl § 2
(A) Oz

(B) SO

(C) NO;

(D) CO

Which gas is liberated during respiration?
(A) Oz

(B) SO

(C) NO;

(D) CO;

43. question missing

44. TIHIST & qUT INFHRIOT A FAT HFd gl g7
(A) dae CO,
(B) shael Fall
(C) ae H,0
(D) 3 |9

What is liberated by complete oxidation of glucose?
(A) Only CO,

(B) Only energy

(C) Only H,O

(D) All of these
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45. AT Beer ha g HT Bear § ?

(C) IT-IRIIT
(D) 31 & g gl

What type of membrane is the cell membrane ?
(A) Permeable

(B) Impermeable

(C) Semi-permeable

(D) None of these

46. TALUT. (ATP) & AEARd &9 §.
(A) TiEfaeT asf@s wiethe

(B) ufsfaeT grewiethe

(C) TfEaiffeT TIsHhiehe

(D) UfsfaeT argHieT SIgmhiEhe

Full form of ATP is

(A) Adenine thymine phosphate
(B) Adenine triphosphate

(C) Adenosine triphosphate

(D) Adenine thymine diphosphate
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47. Tera dr 3ufeafa & sifg & fav fFa fSeae & 39T gar & 2
(A) 3TAET

(B) Hthsilet

(C) g3t

(D) AN sof

Which solution is used to test the presence of starch?
(A) lodine

(B) Safranin

(C) Eosin

(D) Methylene blue

48. YT HLAYUT I X foddst H @ ool FRPBI I AT AT & ?
(A) JRIM & 30T W
(B) WehIRT shT AT T
(C) (A) 3R (B) &t
(D) 518 & HIS =gl

Rate of photosynthesis is dependent on which factors?
(A) Properties of light

(B) The amount of light

(C) Both (A) and (B)

(D) None of these
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49. CaOCl, T yafeld (ATYROT) =1H &7 g ?
(A) Hfcadad FoRT HiFarss

(B) shfcaas 3T s

(C) Talateh uT

(D) Hfcaad FRSS

What is the common name of CaOCI,?
(A) Calcium chloro oxide

(B) Calcium oxy oxide

(C) Bleaching powder

(D) Calcium chloride

50. ANSAIFT AHF &
(A) NaCl + KIO;

(B) NaCl + Ki

(C) (A) 3R (B) &t
(D) 518 & HIS =gl

lodized salt is

(A) NaCl + KIO3

(B) NaCl + Ki

(C) both (A) and (B)

(D) none of these
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51. fAsrerg 5@d 90% Cu 3R 10% Sn &, 38T AH &

(C) ST Tiear

(D) =hrar

The alloy consisting of 90% Cu and 10% Sn is named as
(A) Solder

(B) Brass

(C) German silver

(D) Bronze

52. 3iTeFHIslel [ & TH (0] & & WA & T fohdal e 1T o1 g 2

(C) 3
(D) =g 3T FET

How many bonds are there between two atoms of one molecule of
oxygen gas ?
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53. IAE I°T FAT § ?
(A) ZnO

(B) ZnS

(C) ZnCl,

(D) ZnS0O,

What is Philosopher wool?
(A) ZnO

(B) ZnS

(C) ZnCl,

(D) ZnSO,

54. 3T IHT JFT & AZIH IdUT Fgdld &

The sodium salts of higher fatty acids are called
(A) rubber

(B) plastic

(C) soap

(D) detergent
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55. fFAToi@d 7 ¥ relfeiel HHg &1 Hehd il & ?
(A) - CHO

(B) -~ COOH

(C) =CO

(D) -0 -

Which of the following is a symbol of carbonyl group?
(A) - CHO

(B) - COOH

(C) =CO

(D) -0 -

56. rATof@d s AT J Fia-ar Jifee tewsa § 2
(A) wefieT

(B) AT

(C) Tfeeher

(D) FelIopTa

Which of the following organic compounds is an alkyne ?
(A) Ethene

(B) Methane

(C) Acetylene

(D) Chloroform
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57. fora gdur &1 wiend g, el T IRUE & 36TAR, KUMcHS AT
ST & 2

The focal length of which mirror is taken as negative according to the
convention of signs?

(A) Plane mirror

(B) Concave mirror
(C) Convex mirror
(

D) None of these

58. 37aciel gUUT # Tafd Hleuleieh UlAfdT qliel & T a&q T sgl @
Srar g ?

Where is the object placed to form a magnified virtual image in a
concave mirror ?

A) Between focus and pole
B
C

Beyond centre of curvature

(A)
(B)
(C) At focus
(D) Between centre of curvature and focus
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59. YehIU & 39ddd & fohdel AT § 2

How many laws of refraction of light are there?
(A) 1
(B) 2
(C) 3
(D) 4

60. fordY ATEIH & 39adelieh &l AT FAT 8T ¢ ?
(A)sini

sin r

(B) sin r

sin i

(C) sini+sinr

(D) sini X sinr

What is the value of refractive index of a medium ?

(A) sin i

sin r

(B) sin r

sin i

(C) sini +sinr

(D) sini X sinr
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61. oIg T &THdr T S.|. ATFH FAT § ?

(D) 3raTTex

What is the S.I. unit of power of lens ?
(A) cm™

(B) m

(C) cm

(D) Dioptre

62. 37ade ofF H YT (M) ST AT &
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63. §X & 39adaleh [hdaT § ?
(A) 1.42
(B) 1.32
(C) 2.24
(D) 2.42

What is the refractive index of diamond ?
(A) 1.42
(B) 1.32
(C) 2.24
(D) 2.42

64. T cH fopder gael & R glar ¢ 2
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65. QIERITH T GATT] FE&AT 19 &1 SHAI HATSTehell AT § ?

(D) 4

The atomic number of potassium is 19. What is the valency ?
(A) 1
(B) 2
(C) 3
(D) 4

66. Teahel T TTHT JF FIT § ?
(A) CqHan

(B) CnHan+2

(C) CnHzna

(D) 31H & FIg Lt

What is the general formula of an alkane?
(A) CnHzn

(B) ChHans2

(C) CaHan-

(D) None of these
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67. FeleT I ITATI] HEAT F47 § ?

What is the atomic number of fluorine ?
(A) 9

(B) 19

(C) 29

(D) 39

68. @5 faerge arel folca T & el & ¢ar g1 37 et &7 pH AT glom
(A) 7

(B) 7 ¥ e

(C) 7 & &H

(D) 31H & FIg Lt

A solution turns red litmus into blue. The pH value of this solution would
be

(A) 7

(B) more than 7
(C) less than 7
(D) none of these
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69. 3fTereiisleT ol GRATV] R T § ?

What is the atomic weight of oxygen ?

(A) 8

70. siedrge fAwifhd & @ fha a1 T 39%h 8 ?
(A) Hg
(B) Fe
(C) Al
(D) Zn

Bauxite is an ore of which of the following metals?
(A) Hg
(B) Fe
(C) Al
(D) Zn
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71. arg3it dr fRameierdr 1 TEr A &
(A) Na > Zn >Mg > Cu
(B) Na > Mg > Cu > Zn
(C) Mg < Na < Zn < Cu

(D) Na > Mg > Zn > Cu

The correct order of reactivity of metals is
(A) Na > Zn >Mg > Cu
(B) Na > Mg > Cu > Zn
(C) Mg < Na < Zn < Cu
(D) Na > Mg > Zn > Cu

72. Fe, 03 + 2Al — Al,0; + 2Fe efaf@d & & [T geR &7 3TATHAT &

(C) faramgeT
IEIEEC]

Fe, 0; + 2Al - Al,0; + 2Feis which of the following types reaction?
(A) Combination

(B) Decomposition

(C) Displacement

(D) Double displacement
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73. FIaeT gISgIotel & HIWET X oAl g

) EIRIGEIITED

Carbon combines with hydrogen to form
(A) aqua regia

(B) halogen

(C) hydrocarbon

(D) ionic compound

74. IR T VAT AT ARON & A 99 & dca § 2
(A) 10

Boron and aluminium belong to which group of elements in periodic
table?

(A) 10
(B) 17
(C) 13
(D) 3
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75. HF &1 Gl W7 fohA quTeh & FHROT gl § ?

Which pigment makes the colour of urine yellow?
(A) Chromoplast

(B) Urochrome

(C) Chloroplast

(D) Leucoplast

76. &g 3YHFAT §

(A) JUH AT T T

(B) giada dIs X ahr
(C) Feira o TR
(D) 518 & HIS =gl

The tiger is a consumer of
(A) first trophic level

(B) second trophic level
(C) third trophic level

(D) none of these
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77. T 1T FT 9@ BT ®
(A) BIET AT @RI

(B) Tpd car

(C) 3=aTeT EaRT

(D) Frgofr gar

Bile juice is secreted by
(A) small intestine

(B) liver

(C) pancreas

(D) duodenum

78. #s, foech dur aeNes F 3w §
(A) FHSIT 39T
(B) 3HHSITA 39T
(C) 3rgQdT 379T

(D) $TH & g LT

The forelimbs of man, cat and bat are
(A) homologous organ

(B) analogous organs

(C) vestigial organ

(D) none of these

https://www.bsebstudy.com




79. fAFART & & T YAveeiael HT 3&I0T § ?

(D) $1H | FIg Tl

Which of the following is an example of regeneration ?
(A) Hydra https://www.bsebstudy.com

(B) Frog

(C) Cow

(D) None of these

80. FerelT St & Siefr T Fgerel &

The genic constitution of an individual organism is called
(A) genotype

(B) phenotype

(C) variation

(D) heredity
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gus - § /| SECTION - B
#iifas ameT / Physics
o 3T 99T / Short Answer Type Questions

TR HEAT 1§ 8 T oY I £ 37 F fhexdl 4 Il & 3N &I IIh
g & foIT 2 3% FUIRd g

Question Nos. 1 to 8 are Short Answer Type. Answer any 4 questions.
Each question carries 2 marks.

1. § $1 il &1 AT FA1 § ?

What is the source of energy of the sun?

2. ARSI fQ@sT a7 82

What is nuclear fission?

3. Ush o & FhII-for fohdy YR A el § ? Ush IRW EaRT ehefe]
|

How does a light ray proceed in a lens? Show by a diagram.
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